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AH=+46 kJ

. Q@ NHy = SN+ 2H, (9
AH= -484 kT

®@ 2H, (9 * O — 2 Ho(y

*
Dx -4 2N, wé/ﬂf@ — 4 NH, aH = -4(+463)
@x -3 bH0(q —»,éﬁf@ + 30,9 AH= -3 (-484k7)
2N2 + 6HO0@ = 30, + 4 NH, (9

AH = -4(+46 13) + (~3)(-494 \T)
=+|268 LY

2CF + 0l > Q0@ + FO)  AH="16F kT

2. ©
® 2UFR 6 +20,9)~> Q0@ +3R0; AH=+3H.4 T
® 2FK© + 0= 2RO AH: ~43.4 3
o\ . >
( @ x ‘Iz C,QF'-C@ + w,_(s\, — 11_5,(0 @+ jmg(s\ AHF'E_(’G?W)

@i  F@ + 0.6 - 556 At L (-13410)
®x~% 106+3600 = ARG + 99 AH="L(3EH4K)
UAF@E + F(qp — C,U'-'3(3)
AH= L0634 10) + L(43.41Q) +[-1)(341.4K3)
= —[08.F kT

3. O C puhbe (8 + 'E_,‘_O,_(j\ —> (O AH=-1{0-5kK3
@ Cyuphte () + O, — CO(4)  AH= -33.5KT
@ 2R+ 30,64 > F,0)s)  OH=-8242kT

@Ox -l Fe0;(— 2Fen+30,(5 aH=-1(-84.13)

O x-3 30 = 3C;k )+ 30,y aH=-3(-1i0.5k7)

@x 3 B+ 36,0 300, 8H= 3(-313.5kT)
Fe,0,(s) + 300 = 2Fe(s) + 3601(33

AH = (- )-8t 2kT)+ (~3)(-uo.s’kﬂ +3(-33.¢ kﬂ
= —24.8 kT



